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Divide using synthetic division.

5) (n* +3n° —9n—38)+ (n+3) 6) (a* —4a® +5a*> +8a—14) + (a - 2)
-3t 3 0-9 -3 2 -t s 8 -4
390 O % c-12 20

[ O -1 _u

7) (4a® - 364’ + 60a +72) + (a — 8) (X*F16x> +75x> +91x+49) = (x +7)
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Use the Factor Theorem to determine whether the given binomial is a factor of the given polynomial.

9) (n* +16n%> + 71n + 56) =+ (n + 8) 10) (n*+ 70 =250 +22n = 25) + (n - 2)
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Given a polynomial f(x) and a factor of f(x), factor f(x) completely.

13) f(x)=25x> —40x* +17x - 2; 5x -2 14) f(x)=5x*-18x - 33x-10; x5
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